509 Hemlock St
Philipsburg, PA 16866
Ph- 814.343.6315 Fax- 814.343.6318

RaceProvenSuspensionsystems InSta I Iati On In Stru Cth nS

support@umiperformance.com
www.umiperformance.com

Sway Bar End-Links (Bushing-Rod End Style)
P/N# 2649

Box Contents

Qty Part # Description
2 PCYFR6T High Misalignment Rod End
4 4806G Sway Bar isolators
4 15.03.01.39 Sway Bar Washer
4 1000006 3/8" Flat Washer
2 1000092 3/8"-24 x 4" bolt
6 1000099 3/8"-24 Nut
2 1000101 3/8"-16 Lock Nut
2 1000102 3/8"-16 x 2" Bolt

Before installation, verify box contents are correct and read through instructions completely.

Always ensure proper support when working under a vehicle. Use approved jack stands when
using a floor jack as well as proper technique for securing your car while on a drive-on lift.
Always use proper safety clothing and eye protection when grinding and welding.

Installation / ] s’
1. Raise car to a comfortable working height using ' ' :
the method of your choice. Follow applicable

safety procedures.

2. Locate the front-lower A-arms and make sure
they have the correct mounting tabs. (see figure
1)

3. Assemble the 2649 end-links to the sway bar as
shown in figure 2.

4. Finally, attach the rod end to the A-arm with the
supplied bolts, nuts, and washers.

Figure 1: Completed Install

Page 1 of 2
Thanks for choosing UMI Performance, Inc.



509 Hemlock St
Philipsburg, PA 16866
Ph- 814.343.6315 Fax- 814.343.6318

RaceProvenSuspensionsystems InSta I |ati0n In Stru Cth nS

support@umiperformance.com
www.umiperformance.com

End-links should be assembled to the sway
bar as shown in the figure to the right.
Once everything is installed to the sway
bar, lock the two upper jam nuts. Also,
lock the lower jam nut against the rod end.

Bushing Washer |

3/8-24 x 47
Bolt

Sway Bar Bushing

Bushing Jam Nuts

Rod-End Jam Nut

Rod-End Figure 2: Sway Bar End-Link
Assembly Diagram

DISCLAIMER OF WARRANTY

THE PURCHASER ACCEPTS ALL RESPONSIBILITY FOR THE FINAL USE OF
THE PRODUCTS PURCHASED AND SHALL HOLD UMI PERFORMANCE
INCORPORATED AND ITS REPRESENTATIVES HARMLESS IN ANY LEGAL
PROCEEDING ARISING FROM THE USE OF SUCH PRODUCTS.

UMI PERFORMANCE INCORPORATED DOES NOT WARRANT, GUARANTEE,
OR MAKE ANY REPRESENTATION REGARDING THE USE, OR THE RESULT OF
THE USE OF ANY PERFORMANCE PRODUCT MANUFACTURED OR
DISTRIBUTED BY UMI PERFORMANCE INCORPORATED. PURCHASER
ASSUMES THE ENTIRE RISK AS THE RESULT AND PERFORMANCE OBTAINED
FROM THE INSTALLATION AND USE OF SAID PERFORMANCE PRODUCTS.
UMI PERFORMANCE INCORPORATED ASSUMES NO RESPONSIBILITY FOR
AND HEREBY DISCLAIMS ALL WARRANTIES, ORAL OR WRITTEN, EXPRESS
OR IMPLIED INCLUDING WITHOUT LIMITATION, THE WARRANTIES OF

| tem #2 649 MERCHANTABILITY AND OF FITNESS FOR A PARTICULAR PURPOSE.
Sway Bar End-Links (Bushing — Rod End) ALL PARTS ARE WARRANTED TO BE FREE OF DEFECT AT THE TIME OF
PURCHASE. WARRANTY IS ONLY EXTENDED TO REPLACEMENT OF PARTS
UMI Performance Inc. FROM UMI PERFORMANCE INCORPORATED AND DOES NOT COVER LABOR,
Made in Philipsburg, PA - USA TOWING OR ANY OTHER DIRECT OR INDIRECT COST. UMI PERFORMANCE

INCORPORATED IS NOT RESPONSIBLE FOR ANY CONSEQUENTIAL DAMAGE,
EXPENSE OR INJURY ARISING FROM THE USE, MISUSE OR IMPROPER
INSTALLATION OF ANY PRODUCT MANUFACTURED AND/OR SOLD BY UMI
PERFORMANCE INCORPORATED.

Page 2 of 2
Thanks for choosing UMI Performance, Inc.



